X=-35344.399
Y=-27792.724

X=-35344.399
Y=-27292.711

— . . —_—
. ——

. —
—_— - —

. —
—_—

. —
—_—

. —
—_—

. ——

. —
. ——

122 123

132 | 133

/

142 143

ML 15l
iR 12 g Al
— — X - BRBOXR
2 0%E R
Snhess x B8
5K tBEs m 8
2K htEE% 5 B8
EEH 5 2 B8
i =S 8 31l
e % 8 T £
—> BB E
CH e E = ®
R R
5 "7 (I ERER
@ OSAF
@® (O 18 A%
O © 25 AF
O 38AFL
© 48 A7,
5SAZL
62 A7
® (%B%W;i]%;%i%%éﬁ?}
O 1 SAF
) AT
S BIKAFL
REEAF
N AFERITE
& =0
. b
—>0— g & R ¢
@Ht+——> =
- e B F
—o ROZK A H Y

CAFUEE

® - (AFLR) OB T P
bt

a2t S (AFL)

EEED

(_t:i»rn ) T B (Fiﬁ
IT#H®O/) EBE DEc XREEEEE \L#HO
LREES EeEsSER SREES

®

®

O PfE com—xe
[] e O+ YV/\— s
U Uz Y Fe8

<HEUTEREM

|—o g 0V

=
3

ERAFLDILDSD
& 0 BB BE

X=-35694.398
Y=-27792.724

 TFKEGRRIE, BRMDKREFBELEVGEENHYET,
AREZRE - TEFICHASNDEE X, TKEREDHZERT.
TKEEDRRZHEMTHESNDSIOEEOLET,

N =z
AR
100N

[CoMEIL, REAESE DA
FMALTERLI-LOTH S, (K

AES)SHTHEREF225]

REZITT, HEAMHER 2,500 D 12X %

Om

75m

100m

X=-35694.398
Y=-27292.711

ahfh IR &0 T /KE R

T 9%

10K




